
VIEW 'A' (FE-OUTLET)

 STICKER GENERAL + WEIGHT + CES190122116

 SENSOR SME-8M-DO-24V-K-7,5-OE83.9900130215

M10x16BOLT, HEX M10x16 - A250.1210016514

M 10WASHER M 10- A270.0200010513

 AXLE PLATE SPKK000E0011138112

M8x35SCREW, HEX S CS  M8x35 - A252.0208035411

M8-110THREADED ROD M8x1.25 - AISI 304 - L110E0004602210

 CONTR BOX SPKK Ex ll 2DSCBAP1240019

 5/2 SOLENOID[24VDC] EX II 2GDA14020418

 KK2424 COVER PLATE CYLINDERS14032817

M8NUT, HEX CAP M8 - A260.320000826

M8x16BOLT, HEX M8x16 - A250.120801645

 KK000 PROTECTION COVERS14028014

M 8WASHER M 8- A270.020000863

 KK000 CYLINDER WITH SUPPORTE000923012

 VALVE BOX #240 H500 EX ASSYA14026611

DimensionsDESCRIPTIONPART NUMBERQTYITEM

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

17-12-2013

A2

AvD

Description:

Date:

Drawn:

Extra info:

 All rights reserved. Reproduction is not permitted without
written permission of GOUDSMIT Magnetic Systems BV

ISO268; ISO1101; ISO2553

ISO 2768- mK

SPKK-S-240-500-C-NA

Sheet:

Drawn according:

General tolerance:

SPKK240007

Part number:

Spare part:

Weight (kg):

File number:
Quick search:

Status:

Customer reference number:

-

False

Standard

SPKK240007

KK2424

1

QTY MAT. NUMBER MAT. DESCRIPTION LENGTH (mm)

RAW

MAT.

WIDTH (mm)

Rev:

-

Rev:

REV DATE BY DESCRIPTION

-

18-12-2013 AvD REFERENCE DRAWING SPKK240006

15

4

5

°

(
9
5
)

(274)

516

5
0
0

2

431,5

10 (12x)

3
2
0


 
(
2
x
)

2
4
0


 
(
2
x
)

2853 x 95 =  (2x)

2
8
5

3
 
x
 
9
5
 
=

 
 
(
2
x
)

541

10 (10x)

320

240

1
5
0

2
3
0

2853 x 95 = 

1
9
0

2
 
x
 
9
5
 
=

 

98

711

6103

2 15

12

1413

6
6
1

448

A

16


